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BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING

Question No. 1 is Compulsory. Answer any four question from the remaining five questions.
Wherever necessary, suitable assumptions should be made and disclosed by way of note
forming part of the answer.

Working Notes should from part of the answer.

Question 1:

(a) XY P 100 <7 U 99 Bl A BT © 4 AT § dunfae Rerfa a1 fade=r sifie—
(a) IfT x ST Rw ATRIST T &1 SIelR © 10,000 . UfA 7 @ &% R d9+9 &1 Aol
T g
(b) AT X RIS TA HT SR & 3R oI Z gRT MR o SR |
(c) 3Ife X TRIA T &1 SR ® T 10,000 . YT @9 AT 11,000 . A e W faspy

B BT FEHT BIAT © |
(d) afe x TIRIST dad T TAT & dA BT Sl 2 |

(4 Marks)

(b) U FHE B UNG WA I S GOlleR B Goliexel & folt uwga fear wmam eiR
USiTpR = 99 T JAIO—U HFAT DI SR &R g1 | |/ deniviep JqenRepad gl &R
O @ 9IS B U I AT B ATHT BRI BRAT IR R eI St fF W w5 H
AT ITHARI AT | B BT bl & fdb IS IR &I Tepld 3R @Ry § TEI ST S
THhal & Rlfe ITHT e egaradrs 81 39 U9 &1 SR aIfoy fh &1 &7+ &1 9d
3 © AT AL |

(4 Marks)

(c) WM IEd J e HHARAT & 9dt 99 & forv fade | TR el [1 &7 HusT ar ENiaT
WY I WRIE] BT IeWI el IR | WAfb STd HHAIRAT §RT dal Pl Ugl 7A7 o gai Fel

@ T8 Febell | BTellfh 39 a1 &1 Aeg o7 fdb HUST SUl, g€ G TSI BT 3RTR

g @ oy SfIa or| ®r HWE ared 9 fasha e & ord Jed WRUlg B

THAR B7
(4 Marks)
Question 2:
(a) ifAa <R AEERY 9 AfNd SR FF & AT R 9are?
(6 Marks)
(b) TG Ay A=A 1930 & FJAR Fasd & Al g &1 “f[A%T A1 A’ & R WR o=
AT 2 AT Bl DI AR BT FHICORYT Hd BIAT &2 G Wd U SR o @il o §1 fb 39
B 2 el & < ® T AT IR B MR W, Uh IwiE a1 o Sl S PR BT S
TORT B ARAY 3@ < €1 g Wi oo &R w7orer | arft /i =@l § | o ey
s & ded | ol o @ g Mg &1 sR arfte ura 8Rh |
(6 Marks)
Question 3:
(a) TWH ¥ 9ER I dldl 9EeR & JGRI & IR H qan ?
(6 Marks)
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(b) A B P 500 T Alg HI A& . 5000 URT e & &R A T [RR=d ol &1 guait o
BT IFgay fBAT| $Hd UTAd A T C W 500 T dlg B AEX Wb, 4,800 U e B &R A
TR BT AleT fhar don ey H 9 e R fQar {6 I8 ey S99 B & 9 fdhy 1y
3TdT BT ASITeT v & Seed 9 fHar 1 C UAT Ty YT F IR I | Holkdwd A g
BT FTEN YT 9 PR FHT 3R B 71 W fJae FAG px fear | 57 uRReIfe=i 9 A, ¢ & fdhan
Bl B I gYSd B Fhal 8 ° WRAIY ey A, 1872 & UYrggl & Fad H

NAHSATSV |
(6 Marks)
Question 4:
(a) fFf¥ad At o FHfed BT SRIORYT ®d BIdT 87 91 & (Ao & aR § 9an ?
(6 Marks)

(b) A TTE FHHE BT 1970 H Th AEIGN BH & w0 H Goilgd fdhar oiar g &+ A, B 3R C
AEER ©1 1971 § A & 9g 8 9l 81 1972 9 B 3R C, A U8 &I & -1 3R I
MR W X R GHEH B 8, I BH &1 I UollhRoT T8l Hxard | 37 Yo yed, e w®
g f9R 9= &, 98 © & w1 goew fbar o1 daar g ?
39 SURTFT SETeN0T H T 3R 8l SR Ife 1972 ¥ B 3R C 7 Udh IARICR D &I A
PR foram o 3R I¥a U X & [a%g 997 uSiidRor dRi gpedr fhar o |

(6 Marks)

Question 5:

(a) UP SHMER U UEH H Th Siiel 99 YaRid &dl & T IR . 2,000 $ AT o901 o |
A Taell I9 P B TEIPR GHMER & U AR § 3R I §HMGR Bl DI odx g4
% o @ folt FHEdl B SHMER SS9 99 & SHUR ol dFd & Ufdha # S99 o |
PR BR odl & | BT STaell AT geira @redl & 6 a1 98 qRdy dfdar sfgfem, 1872 @
T 99 HIER & [d%g SWIG R H a8 UK R Tl © |

(5 Marks)

(b) TRUE FHEE A FT JMUR BT 2° TRUS HHA UG 37 GOt HFe W R gHMA
FHATATG Bl B7?
(7 marks)

Question 6:

(a) M I SOHl T ST TRl BT . 50,000 <7 BT ATIET BRI & O 9€ S1UW 309
ST UR E BR G | A dArell (U U Bl folRgd SRR & forg 91idd $Rel € 3R a1
T Fedl R B ¥ | A e folRed aRR 991 < € 9 98 axR fafdad uofigd &
ST ¥ 1 S W S gl AR orel B a8 fiEd AT o § srmet @ o #
SR e, S WY B Reg a1g IR ST A SN a1 @ IBH aqe vl ared)
Y| W GRaT offTEE, 1872 @ AR @ RURT WX AN B9 aId e & wad §
ga QITY b a1 STl SlTell bl Aherdl [FerT |

(5 Marks)

(b) wfdaeTErar &1 Rigra’ 9 SHd U9d & IR H 9o DIy ?
(7 Marks)
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PAPER : BUSINESS CORRESPONDENCE & REPORTING

The Question Paper comprises of 5 questions of 10 marks each.
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three.

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS)

Question 7:
(a) Read the following comprehension passages and answer the following
questions

All languages are systematic and rule bound. Children across the world acquire their
natural language in same manner. In this context, linguistics is not simply the study
of foreign languages. It is the scientific, organized and systematic study of a
language. Linguists examine and evaluate language one the basis of words,
sentence, word order, pronunciation to discuss the internal language mechanism.
Generally people understand that a linguist can speak many languages. However
there is big difference between a linguist and a polyglot. India as a case in example
has six distinct language families. It is estimated that approx. seventeen hundred
languages are spoken in India only. Hindi is a rich language but does not still have a
national language status in terms of official usage although it is official language for
some states. English is official language for most other states.

Most countries have only one language besides Canada where French and English
both are official languages. In the western world, countries are strongly associated
with single languages and vic e versa. Linguists see this due to the rise of nation
states in the past few centuries where single languages attained official status in
individual countries, English in the United Kingdom, French in France, Italian in
Italy, etc. However beneficial the official status of one language may be for a modern
country in terms of government, public discourse, higher education, etc., it is not
helpful to other languages which may be found within the borders of a particular
country. In many aspects language represents our identity and culture. Furthermore,
even in countries where only one language is spoken, say Dutch in the Netherlands,
there may well be different dialects of this language closely related to the national
language. Even within Europe, and most certainly outside of it, the equation of one
country with one language breaks down. Switzerland is a good example of a country
where a single national identity exists across three major and one minor speech
community: Swiss German, French, Italian and Rhaeto-Romance. Beyond Europe it
is more the rule than the exception for countries to have several languages within
their borders. One need only think of such countries as India and China or Siberian
Russia to see how many languages can be integrated into a single state. In such
instances, there is of course an official language which serves the function of a lingua
franca, that is, a language which is used as a means of communication among those
groups who do not speak each others language.

1. A linguistis one who-

a- knows many languages

b- make a language

c- speak many languages

d- masterin programming language
2. India as a linguistic area has-

a- a single language

b- six languages

c- only one official language

d- many languages
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3. Language represents-
a- Population
b- Identity
c- Boundary
d- civilization
4, Switzerland is famous for -
a- Natural diversity
b- Language identity
c- Cultural identity
d- National identity
5. Lingua franca means-
a- Any language used for speech and writing between business purpose
b- Language for business
c- Any language used for communication between groups who have no
otherlanguage in common.
d- Any language used for communication between the particular speech
community
(5 Marks)
(b) Select the suitable antonym for the given word:
1. Frivolus
a- Resolute
b- Gleeful
c- Fragile
d- Advantageous
2. Prerogative
a- Positive
b- Embargo
c- Invincible
d- Grapple
(2 Marks)

(c) Describe various characteristics of effective communication?

(3 Marks)

Question 8:

(a) Write a mail to Suraj Gupta responding to his query about the availability of
cosmetics and toiletries in your manufacturing unit ‘Shimmer and Shine’. You are Mr.
Vishnu Verma, marketing head of the company. (word limit: 150-200 words)

(5 Marks)

(b) List at least 5 barriers of communication. Explain any two of them in your own
words.

(3 Marks)

(c) Change the following Direct Speech into Indirect Speech:

(i) Ram said to him, ‘I don’t believe you.’
(i) Where do you live?’ asked the stranger
(2 Marks)

Question 9:

(a) Unemployment: A blot to Indian economy.

(5 Marks)
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(b) Differentiate between the Vertical Network and the Wheel and spoke method of
communication.

(3 Marks)
(c) Change the following sentences into passive voice:
(i) Some students were helping the layman.
(i) Ram will finish the work by tomorrow.
(2 Marks)

Question 10:

(a) Your company, is launching a new product. Prepare minutes of the meeting for
the same. Members in the meeting: MD, Head of the Sales and Marketing, Product
Head, Consultants and few team members.

(5 Marks)
(b) Select the suitable synonym for the given words:
1. Inchoate
a- Contextual
b- Notified
c- Rudimentary
d- Disseminate
2. Hone
a- Grind
b- Jumble
c- Heuristic
d- Chroneme
3. Dilatory
a- Usingtime
b- Wasting time
c- About to complete
d-  Proximity
(3 Marks)
(c) Select the suitable antonym for the given words:
1. Turmoil
a- Kindness
b- Compliment
c-  Adjustor
d-  Serenity
2. Sane
a- Ego
b-  Frantic
c- Composer
e- Gleaner
(2 Marks)

Question 11:

(a) You bought a printer a few days back from a leading chain of electronic stores. Now
you found a few defects in its working. Write a letter to the dealer complaining about
the problem and requesting him to rectify the problem or replace the printer.

(5 Marks)
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(b)

(c)

Change the following to Active Voice:

(1) The factory was destroyed by fire.

(2) Cake is being eaten by Rajat.

(3) A conservative lifestyle was led by women in olden days

Select the correct meaning of the given idioms:
(1) Clouds on the horizon
(@) A ray of hope
(b) Hopelessness
(c) A problem can be seen in future
(d) Problems are unlimited
(2) Well begun is half done
(@) Good start is important
(b) Good ending is important
(c) Half job is easier
(d) Easier said than done

*k*x

(3 Marks)

(2 Marks)
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